Instructions: Complete the following questions below.  Each question below should include a 100-200 word conclusion, outlining your results. Make sure you include a “Works Cited” and contain internal cites underneath your answer for each question, giving credit to your source.

1. Spread Spectrum can be complicated and has several different "flavors". In a table environment, compare and contrast FHSS, DSSS, and OFDM (although ODFM is not a spread-spectrum technology, it does have similar comparative properties). How do coding and modulation work with spread-spectrum and ODFM? This project will be helpful in analyzing the differences and synthesizing the similaries. Please include a 100-200 word conclusion, outlining your results. Your study should include a “Works Cited” page and contain internal cites, giving credit to your source.
2. Within the MAC layer of the OSI model, wireless is "empowered"!. In a table environment, compare and contrast PPDU, PSDU, MPDU, and MSDU, Illustrate where, in the OSI Model, each data unit operates, and what comprises each data unit.
Briefly explain the MAC process and all of the frames that are used during this process. Please include a 100-200 word conclusion, outlining your results. Your study should include a “Works Cited” page and contain internal cites, giving credit to your source. 

3. When planning for new wireless services or assessing changes that need to be made for an existing service, the interview is an important tool to utilize BEFORE the survey can be effectively completed. 1: Identify questions for proper capacity and coverage planning. 2: Explain questions necessary to troubleshoot an existing WLAN installation PRIOR to conducting a secondary site survey. 3: What types of documentation must be assembled and created prior to the site survey that will be included in the final deliverables? 4: How will specific business requirements of different vertical markets alter the site survey and final deployment?
Choose a typical small to medium sized business environment to apply the 4 points above and complete a "mini-survey" of the business you choose to survey!
Please include a 100-200 word conclusion, outlining your results. Your study should include a “Works Cited” page and contain internal cites, giving credit to your source.

4. In this chapter, we have already discussed the many considerations of using PoE in different environments. Please do some research and while considering a SOHO environment of about 10-15 nodes, answer the following questions. 1. What is the practicality, possibility, and/or advantage to use PoE in this type of environment? What power issues might need to be addressed in using PoE within this environment 3. What does the future hold for PoE in this environment, and 4. What negative effects of PoE might occur during the transition of improvement for PoE. in this environment? Choose a typical small to medium sized business environment to apply the 4 questions above. Please include a 100-200 word conclusion, outlining your results. Your study should include a “Works Cited” page and contain internal cites, giving credit to your source. 
Instructions: Complete the following exercises below. Each exercise below should include a 100-200 word conclusion, outlining your results. Make sure you include a “Works Cited” and contain internal cites underneath your answer for each exercise, giving credit to your source. As you work through the step-by-step procedures, remember that dBm is a unit of power and that dB is a unit of change. dB is a value of change that can be applied to dBm. So if you have +10 dBm and it increases by 3 dB, you can add these two numbers together to get a result of +13 dBm.

Exercise 3.1: Step-by-Step Use of the Rule of 10s and 3s
1. On a sheet of paper, create two columns. The header of the first column should be dBm, and the header of the second column should be mW.

[image: image1.jpg]asm




2. Next to the dBm header, place a + and – sign, and next to the mW header place a × and ÷ sign.

These will help you to remember that all math performed on the dBm column is addition or subtraction, and all math performed on the mW column is multiplication or division.
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3. To the left of the + and – signs, write the numbers 3 and 10, and to the right of the × and ÷ signs, write the numbers 2 and 10. Any addition or subtraction to the dBm column can be performed using only the numbers 3 and 10. Any multiplication or division to the mW column can be performed using only the numbers 2 and 10.
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4. If there is a + on the left, there needs to be an x on the right. If there is a – on the left, there needs to be a ÷ on the right.

5. If you are adding or subtracting a 3 on the left, you must be multiplying or dividing by a 2 on the right. If you are adding or subtracting a 10 on the left, you must be multiplying or dividing by a 10 on the right.

6. The last thing you need to do is to put a 0 under the dBm column and a 1 under the mW column.

Remember that the definition of dBm is decibels relative to 1 milliwatt. So now the chart shows that 0 dBm is equal to 1 milliwatt.
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Exercise 3.2: Rule of 10s and 3s, Example 1
In this example, you will begin at 1 mW and double the power three times. In addition to calculating the new power level in milliwatts, you will calculate the power level in dBms.

1. The first thing to do is create the initial chart, as in Exercise 3.1.
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2. Now you want to double the power for the first time. So to the right of the 1 mW and on the next line, write × 2. Then below the 1, perform the calculation.
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3. You are not finished yet with this new line. Remember that for whatever is done to one side of the chart, there must be a correlative mathematical equation on the other side. Because you multiplied by 2 on the right side, you must add 3 to the left side. So you have just calculated that +3 dBm is equal to 2 mW.
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4. You have just completed the first doubling of the power. Now you will double it two more times and perform the necessary mathematical commands. Since this is the first time using this process, all of the steps have been shown using arrows. Future examples will not contain these arrows.
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You have just calculated that 4 mW = +6 dBm, and 8 mW = +9 dBm. If you had used the conversion formula for dBm instead of the rule of 10s and 3s, the actual answers would be 4 mW = +6.0206 dBm, and 8 mW = +9.0309 dBm. As you can see, this set of rules is accurate but not exact.

